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SAH-AH -2 (SA) - HREAY - BES 01l Ao I AR Husz
CR2AMY A 14,597,876 13,414,960 1,182,916

2 4,450,000 4,450,000 0
Al 10,147,876 8,964,960 1,182,916
CRUNSY IE(=sLNE/ER) 14,489,721 13,300,855 1,188,866
= 4,450,000 4,450,000 0
Al 10,039,721 8,850,855 1,188,866
CEY FHH L =2 3,932,296 2,788,135 1,144,161
T2 FHH ¥ S ALY 2,035,616 1,491,455 544,161
201 LEt2HH| 160,716 168,789 28,073
01 A2 22l | 62,634 74,667 A 12,033
O Ytz 18,050 19,832 A1,782
o = BRMMSE S22 [0E2]
23X 6,393,000 6,393 8,000 A 1,607
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23X 1,575,000 1,575 1,750 A175
O 29449 3,240 3,600 A 360
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Z A 3,240,000 3,240 3,600 A 360
O «xz 39,504 49,280 N9,776
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o T2 AZER U =3 HH| 38,784 48,480 9,696
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O E2RIEL+8 MM 2 112,650 120, 100 AT7,450
o A HAH(25kg) [0 AFE 2]
AX 20,250,000 20,250 22,500 22,250
o 2 [0 AE 2] 23X 19,800,000 19,800 22,000 A2,200
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23X 27,000,000 27,000 30,000 23,000
401 Al Y2 20| 1,710,000 1,150,000 560,000
01 Al&H| 1,695,110 1,142,260 552,850
O &2 34l & s
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Z & 150,000,000 150,000 50,000 100,000
O T23H ZH ¥ HME2ED A3 M
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100,000,000& = 99.28/100 99,280 0 99,280
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03 Al S THHI 5,436 2,736 2,700
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401 AlEHI L 2 i 85,000 65,000 20,000
01 Al&HI 84,082 64,298 19,784
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20,000,0008 * 98.92/100 19,784 0 19,784
03 Al S ThHI 918 702 216
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20,000,000& * 1.08/100 216 0 216
0 L DOt AILES FHHISA 1,274,175 1,264,000 10,175
206 T 2 bl 10,175 0 10,175
01 MEHl 10,175 0 10,175
O &5 MEEZEX U4 7 10,175 0 10,175
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o R 1,078,000& = 1M 1,078 0 1,078
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Jle 61,935 67,885 5,950
Jle3l 61,935 67,885 5,950
201 LBt2 39,614 43,684 24,070
01 At 22l tl 39,614 43,684 A 4,070
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